Al

0238 =0ilat eS| FHSFS0

2M BHFSH
I NS NEds|et
¢l XSEH

E 0l &

Al A

SA - B SRI(BH) - MRAR - BAS Ofl &t e HIREY
dHFS 2,726,745 3,345,423 /618,678
= 329,165
o 63,503
l 81,000
= 404,083
z 1,848,994
INEEEDN =i DALl 1,138,845 1,420,069 N2B1,224
= 188,422
< 245,043
= 705,380
NN 1,138,845 1,420,069 A281,224
= 188,422
= 245,043
= 705,380
NN 88,156 49,932 38,224
201 24| 42,156 34,732 7,424
01 At22t2lBl 20,8%6 9,352 11,544
NDXATH AMRES 7Y S
100,000+ 122 1,200
NDXSZN 243t 222 MA
1,200,000 1,200
Nz MSAE 2435t 234
1,000,000& 1,000
DXAZH G2 =& 0HAHI
8,000 x5 #5632 2,240
NABITE MY 22 @3 A=
100,0002 10 %12 1,000
NI Xz S 63,0002 122 7%6
1)0IS &2l LPGHH2t2 ALY E341 ZH| Xt
4,500,000 *3H & 13,500
02 35224l 21,260 25,380 A4,120
NRERS 300,000& *122] 3,600
DX dSAME 3323 S
920,000 * 122 11,040
NXE BEANE RXEx
1,000,000& 22 2,000
NIy KFH 1,800 +30&! 602 £ 3,240
DEEXE XSIHA 380,000 *1CH 380
NIXY SAZ2H|
250,000 *1CH*43 1,000
202 O] 16,000 16,200 800
01 SLHoAHI 16,000 16,200 800
DXSZH FR=E = LHOAHI
50,0002 x5& *562] 14,000




2 A

dH=S

3 NSFMadaet
o2l XSEH CEREED
SA - BH - SRI(B) - MRAR - BAS Ofl st e HIDEY
DASZH LLEF Z2E 2UH0I|
50,0002 x1& *402] 2,000
403 NXIEHMS =201 30,000 30,000
02 S 2SOt StA= & 2 S A I 30,000 30,000
Ndd SSHEY 22 0IE HIE
30,000,000& 30,000
AN SA S =R0IXA 18,000 18,000
101 e124d| 18,000 18,000
M OIRNZZ2XNSE s 18,000 18,000
NANEESAE HHESER01 ALY
18,000,000 18,000
HE=0MUE2SHIRNY(ER) 9,000 9,000 0
= 2,700
i 6,300
307 glzto| & 9,000 9,000 0
= 2,700
= 6,300
02 LI HAIAE L 9,000 9,000 0
Na=0l HLZ 284 X
9,000,000& 9,000
= 2,700
= 6,300
IIAHEEXES(BE) 15,000 15,000 0
= 4,500
o 10,500
403 AXIEMSA=Z0l& 15,000 15,000 0
= 4,500
= 10,500
02 SJ|2Sote S 2 A 15,000 15,000 0
DARIS JHACHEFT B2AY
15,000,000 * 100 & 15,000
= 4,500
= 10,500
MRS LSS 2ESEIXH(EX) 340,000 170,000 170,000
= 170,000
& 51,000
= 119,000
301 LEE NS 340,000 0 340,000
= 170,000
s 51,000
= 119,000
4 IIEe2d=s 340,000 0 340,000
NEAXS e85 dia2st A
340,000,000 340,000




2 A

K| XH -
(=

dH=S
XSS MEdsolgt

o2l XSEH CEREED
S - BB CRI(S) - NIRAY - BaS 01l bt e HIm =2t
= 170,000
= 51,000
= 119,000
DAEZOIXA 18,780 0 18,780
201 LBr29H| 1,000 1,000
01 AtR2teld] 1,000 1,000
Naaz0l X2 2t E2E WAL S
500,000& 23] 1,000
307 SI2H0| ™ 17,780 17,780
02 QI B AAIEE X 10,000 10,000
NALZO FHH HH 7=
10,000,000& 10,000
03 IZIHXHE2HHIE L 7,780 0 7,780
424301 i 2SXS 7,780,000 7,780
2ABOIXNR(EX) 19,200 100,780 A81,580
& 5,760
in 13,440
308 XXIEHHISO0I& 19,200 48,000 28,800
& 5,760
= 13,440
1 SISO e P A LAEAIS I 19,200 48,000 A\28,800
1N2023E L2tRak &2
240,000 *80Z 19,200
& 5,760
o 13,440
SAJ|EEH 72,300 54,100 18,200
308 AHXISHMISOIA 72,300 54,100 18,200
07 RXISX 2P R2Y = 57,300 54,100 3,200
NEAJIg 24013 57,300,000& 57,300
N S 2HSHUHS B A LAEALEY 15,000 0 15,000
NADIESE P2 N (2IEE)
15,000,000& 15,000
NANENE(Ex) 33,750 10,000 23,750
= 16,875
i 16,875
403 XXIEHIS X201 M 33,750 10,000 23,750
= 16,875
= 16,875
02 I 2SOICHEHAHE S 2 AL I 33,750 10,000 23,750
12023 LPGEI| AFEII AIEINE ALY
33,750,000& 33,750
= 16,875
= 16,875
G IEPAP={alRelPSE gl 218,000 218,000 0
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6,659

1,500

5,159
1,547
1,083
2,529

6,659

KNCHSAZALEUHSXI S (HEALY)

o

HH

300,000
180,000
120,000

300,000

401 Al HIL S OHYI

M H

300,000
180,000
120,000

300,000

01 Al<Hl

NXEHSAE AMEEUE XI2AY
300,000,000&

M H

300,000

300,000
180,000
120,000

300,000

]

0K
I
[pal
He
o
0z

U
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811,332
140,743
63,503
81,000
152,980
373,106

1,585,586

NTT4,254

MmN

811,332
140,743
63,503
81,000
152,980
373,106

1,585,586

NTT4,254

8,674

15,026

6,352




2N
X
l:|-0|:

SA - BB SRI(B) - MRAR - BAS Ofl st e HIDEY
201 823 3,074 3,826 ATB2
01 AtR2tel8l 3,074 3,826 AT52
NexeIssH AIREs 7
70,0002« 123 840
DXl BAK AM2DN HEH]
20,0003 *30 600
Nexiel A2 BOIa M HMA
70,0002 x5 350
NEXeISSH SR AL
8,00021 %2 %495 784
NOISBSXIEE BAS
100,0002+5& *13] 500
202 04l 5,600 11,200 A\5,600
01 2LHo4HI 5,600 11,200 A5,600
NexelssSH dRF8 U
50,0003 x2S 56! 5,600
KB SHL X2 (HEALY) 163,304 163,304 0
& 97,982
= 65,322
101 e124d| 156,304 156,304 0
= 93,782
o 62,522
M ORINZZEXNSE S 186,304 156,304 0
NXASSH LReIAG A 12
156,304,000 156,304
& 93,782
= 62,522
201 Zet2d| 1,000 1,000 0
LS 600
= 400
01 At2relt| 1,000 1,000 0
NXEZSH LI2A EESE M=
1,000,000& 1,000
= 600
= 400
206 M=l 6,000 6,000 0
= 3,600
= 2,400
01 M=l 6,000 6,000 0
NAAZSHL A E =4
6,000,000& 6,000
& 3,600
= 2,400
NAF=EEHEHL T -HSHANSE2EIZHE (EX) 78,858 582,849 A503,991
= 37,731




2A: =S
HNH: D2EXOHY
cel: LIS SH (S ®2)
SA - BB SRI(B) - MRAR - BAS Ofl st e HIDEY
= 12,338
= 28,789
308 AXIEHMSO0IE 78,858 582,849 /503,991
= 37,731
= 12,338
= 28,789
11 SIS0 YA AIZI 78,858 582,849 /503,991
NEEHHNS2IZREQIMEIBXIZ
78,858,000& 78,858
= 37,731
= 12,338
o 28,789
A= -H G Hst MR SESHFE( 10,000 289,227 N279,227
=)
= 5,000
= 1,500
o 3,500
308 AXIEHMSOIA 10,000 289,227 N2719,227
= 5,000
S 1,500
o 3,500
11 SO 2 S0t et & & 2 & A I 10,000 289,227 N2T19,227
NEY #4 s0RSESI A
El= 10,000,000 10,000
= 5,000
T 1,500
= 3,500
MBI FI s -T2 EE(EX) 51,336 113,410 262,074
= 38,503
== 2,566
= 10,267
307 glztol & 51,336 113,410 62,074
o 38,503
= 2,566
= 10,267
02 LB YA E X 51,336 113,410 N62,074
NARIEDIY X2 EEAI (28
51,336,000 51,336
= 38,503
S 2,566
= 10,267
A RIS H-ALDNLHI(EX) 22,160 41,431 A19,271
= 15,512
£ 1,994




SN ARRSDH
HE: DREXU0HY
B 2XelSSH (&)
SA - BH - SRI(B) - MRAR - BAS Ofl st e HIDEY
= 4,654
307 glztold 22,160 41,431 A19,271
= 15,512
= 1,994
o 4,654
02 QB SAEE R 22,160 41,431 A19,271
DA ZDI AP IR
22,160,000 22,160
= 16,512
= 1,994
= 4,654
HOILHOISI L (EX) 50,000 0 50,000
s 25,000
= 7,500
= 17,500
307 212tol 50,000 0 50,000
= 25,000
= 7,500
= 17,500
02 LB HAIHE L 50,000 0 50,000
NEISH 0271 SEAY
50,000,000& 50,000
s 25,000
S 7,500
= 17,500
HSEUBIESIIE|E(EX) 20,000 0 20,000
= 6,000
= 14,000
307 21201 20,000 0 20,000
< 6,000
= 14,000
02 LHFHAIAE R 20,000 0 20,000
NEEE 0HI0HESI1Y SEAS
20,000,000& 20,000
S 6,000
= 14,000
OE3sHI(EX) 69,000 30,000 39,000
= 20,700
= 48,300
307 glztold 69,000 30,000 39,000
= 20,700
= 48,300
02 ULEHAIAE R 69,000 30,000 39,000




SN ARRSD
HE: DREXU0HY
chel: YX2IZER (B9 @2
SA - BH - SRI(B) - MRAR - BAS Ofl st e HIDEY
OS2 SH BEXAAY
58,000,000 58,000
= 17,400
= 40,600
NesS3sH KEAS 11,000,000 11,000
= 3,300
= 7,700
NHEFCgFEHARe|-Mt=H AT AR (EX) 195,000 0 195,000
= 82,500
= 112,500
307 glztold 195,000 0 195,000
= 82,500
= 112,500
02 LB AEE X 195,000 0 195,000
Naletz 39 XA
195,000,000 195,000
= 82,500
= 112,500
dEdsige el el sid(Ex) 8,000 0 8,000
= 2,400
e 5,600
307 2lztol 8,000 0 8.000
== 2,400
= 5,600
02 LIHBSAIEE X 8,000 0 8,000
NASHs| YR HHS A
8,000,000& 8,000
= 2,400
= 5,600
NHAAHSEHHH LR (EX) 135,000 0 135,000
Il 81,000
= 54,000
308 AXIEMSOIA 135,000 0 135,000
Il 81,000
= 54,000
1 S) 2SS HASAIZ I 135,000 0 135,000
NDAGEAHE FEED XIZA
135,000,000 135,000
Il 81,000
o 54,000
sTASTHIIRS 765,768 328,968 436,800
S 6,060
s 759,708
THHE 2 765,768 328,968 436,800
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Sk AMRSH
Hu: SEASTHRS

chel: EOjE CERED
S - BB ORI(S) - NISAY - BaS 01l bt e HIm =2t
201 LBr2A| 20,000 30,000 210,000
01 AR2eldl 20,000 30,000 10,000
NUSAl & &E IR K&
500,000& *202] 10,000
NEESHE FA - BINE 29
2,000,000 *571 A 10,000
dlotds2g 2| 300,480 81,680 218,800
201 LBt AH| 300,480 81,680 218,800
01 AtR2eld] 200,480 81,680 118,800
naleHo4ES A& ASE HIOIK ME
10,000,000 10,000
nalokz AloHoME 2 s Aos¢
70,0002 *123] 1,680
AIPHOMASE OIHIE X2 H
10,000,000 10,000
DAICHONMAE SIEE HCtM EIIRARS %
=} 100,000 »8H 800
1)AI9H004E NS S EE 20,000,000& 20,000
D=1 AloF 22tol ZHIX MAF & ONSHIE
88,000,000& 88,000
NAIeHo4E 3l FI| RSEAMEIA
50,000,00024 50,000
1)AIOHOMAS SR (FM, &)I|EH
10,000,000 23] 20,000
02 S==29| 100,000 0 100,000
NaleHM4E 2HEY 100,000, 000& 100,000
AIOFAFZ A ETHBH K| & 145,800 0 145,800
301 LBeEXZ 80,000 0 80,000
14 JIEIE &= 80,000 0 80,000
N2 HAMEH =0t =& 2H2 XS
400,000 200 80,000
307 2I2+0| & 30,800 0 30,800
02 QI B AAIEE X 30,800 0 30,800
1S HLME =0 S XA
88,000 +350% 30,800
402 I2HXH=201N 35,000 0 35,000
01 QI2EXH2AIE 2 A& (REMITHE) 35,000 0 35,000
12 HAM 50 012 PR
14,000, 000 *5CH *50% 35,000
C-ANZEYsESMEESI|EE(EX) 20,200 0 20,200
T 6,060
i 14,140
201 Let2dH| 20,200 0 20,200
T 6,060
= 14,140




2N

HH: SLANSBHSE
chel: EOjE CERED
SA - B B(3) - NISAIY - BAS Ofl ko e HImE2
01 ArR22teltl 20,200 0 20,200
DNE-AZ Y sS4 BHE D8
20,200,000& 20,200
& 6,060
= 14,140
HY2AZH(ZHRS) 10,800 10,800
[2ZHl 10,800 10,800
JlE2ZHl 10,800 10,800 0
201 Let24AH| 1,800 2,600 A800
01 ArR2teltl 1,800 2,600 A800
NEASE AIR22 150,000& 12 1,800
202 04| 4,800 5,200 A400
01 =G4 LI 4,800 5,200 A400
NEME2Y =LY 50,0002 *10H 83| 4,000
N32A 2ol 50,0002 *2H 83 800
203 SR F&l| 4,200 3,000 1,200
M EA2LHRFEHI 4,200 3,000 1,200
1)1521 0|5t 350,000 x 123 4,200




